' 7, KINT=K

I GRANI DI REGOLAZIONE E DI FISSAGGIO

<H—>
COD. DESCRIZIONE PASSO COD. DESCRIZIONE PASSO
oon M 4 x 4 0,7 0060 M 10 x 10 15
0380 M 4x8 0,7 4972 M 10 x12 15
0173 M 4 x 14 0,7 0377 M 10 x16 15
0017 M5 x4 0,8 0186 M 10 x 20 15
0019 M5x5 0,8 0417 M 12 x1x12 1
0365 M 5x6 0,8 0200 M 12 x 10 175
0366 M 5x10 0,8 0260 M 12 x12 175
0285 M 5 x 30 0,8 0390 M 12 x 14 175
0388 M 5 x 40 0,8 4973 M 12 x16 175
0367 M6 x4 1 0188 M 12 x 30 175
0368 M6x5 1 0074 M14x1x6 1
0020 M6 x6 1 0401 M 14 x15x 16 15
0370 M6x8 1 0082 M 14 x 10 2
4970 M6 x10 1 0261 M 14 x12 2
0371 M6 x12 1 0068 M 14 x 14 2
0181 M6 x14 1 4974 M 14 x 16 2
0208 M6 x16 1 0493 M 16 x 1x12 1
0253 M 6 x 40 1 0420 M 16 x1x16 1
0372 M8x6 125 0404 M 16 x1,5 x 12 15
0021 M8x8 125 0073 M 16 x 10 2
4971 M 8 x 10 125 0070 M 16 x 12 2
0375 M8 x12 125 0400 M 16 x 14 2
0382 M 8 x 16 125 4975 M 16 x 16 2
0183 M 8 x 20 1,25 0076 M 18 x 2 x12 2
0284 M 8 x 40 125 0075 M 18 x 2 x17 2
0409 M 10 x 1x10 1 4976 M18x2x 20 2
0403 M10 x1x12 1 0259 M 20 x2x17 2
0385 M10x 8 15 4977 M 20 x 2 x 20 2
segue >> 4978 M 24 x 2 x 20 2

682 ACCESSORI E RICAMBI

7, GAIT




